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+ 4 ERT | RA~12| BB |+ o AT 11 = 0.21 | 4mvy | 111 61 BEL| - - M= 4
+t 4B | R4A~12| BB |+ o iRRT 11 = 0.48 | 4y | 211 | 140 BER| - - 1m|=5
+ 4 ERT | R4A~12| BB |4 ERT 11 = 0.07 | 4mvy | 211 20 wER| - - 1M ]=] 5|1
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t 4ERT | R4~12| BB |t 4o iERT 11 = 0.26 | 4ovy | 68 60 wEXR| - - 11 ]=1]20
t 4 ERT | R4~12| BHIE [t 4 iERT 11 = 0.06 | 4ovy | 68 14 BAEK - - 11| = 21
+ 4 EET | R4A~12| BB |4 ERT 11 ~ 0.80 | 4mvy | 161 | 233 BEXR| - - 11 A1
+ 4 ERT | RA~12| BHRIE |+ o AT 11 ~ 1.00 [ 74vy | 111 | 291 BEL| - - 11|~ 3
t 4 ERT |R4~12| IR [t 4 iERT 11 ~ 0.97 | 4wy | 211 | 282 BAEK - - 1M1~ 4
t 4ERT | R4~12| EHHIE |t 4o iERT 11 ~ 0.07 | 7hvy | 146 | 20 wER| - - 11|~ 5
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+ 4 ERT | RA~12| BHRIE |+ o iERT 11 ~ 0.45 | 7hvy | 80 | 109 BEL| - - 11|~ 8
+ 4 ERT | R4~12| BHRIE [t 4 ERT 11 ~ 0.12 | 7hvy | 146 [ 35 B - - 1M1~ 9
+ 4 RET |R4~12| BB |+ 4T 11 ~ 0.02 | 7hvy | 146 6 BEL| - - 11 ]~ 10
+t 4B | R4A~12| BHRIE |4 iRRT 11 ~ 0.36 | 4oy | 60 718 BEL| - - 11|~ 11
t 4 ERT | R4~12| BB [t 4 iERT 11 ~ 0.05 | 4mvy | 96 13 BEX| - - 11~ 12
t 4 ERT | R4~12| BB [t 4 iERT 11 ~ 0.77 | 4wy | 84 | 189 BAEK - - 11 |~ ] 13
+ 4 EET | RA~12| BB |4 ERT 11 ~ 0.27 | 4ovy | 84 66 BEXR| - - 11|~ 14
+ 4EET | RA~12| EIHIE |4 RAT 11 ~ 0.04 | Hmvy [ 106 | 11 BEL| - - 11|~ 15
+t 4B | R4A~12| BB |+ o iRRT 11 ~ 0.20 | 4mvy | 104 | 53 BER| - - 11| ~] 16
t 4 ERT | R4~12| BB [t 4 iERT 11 ~ 0.06 | 4ovy | 76 15 wEX| - - 1M~ 17
t 4 ERT |R4~12| IR [t 4 iERT 11 ~ 0.30 | #mvy | 146 [ 87 BAEK - - 11 |~ |18
t 4ERT | R4~12| BB |4 iERT 11 ~ 0.07 | 4avy | 111 20 wER| - - 11~ 19
+ 4 ERT | R4A~12| BB |+ o ERT 11 ~ 0.11 | 4mvy | 146 | 32 BEL| - - 11 ]~ 20
+t 4B | R4~12| BB |4 iRRT 11 ~ 0.55 | 4mvy [ 146 | 147 BER| - - 1] k|15
t 4 ERT | R4~12| BB [t 4 iERT 11 ~ 0.04 | 4ovy | 81 10 wEX| - - 11|+ 16
t 4 ERT |R4~12| IR [t 4 iERT 11 ~ 1.27 | vy | 81 309 BAEK - - 11| k|16 1
t 4ERT | R4~12| BB |4 iERT 11 b 0.03 | #ovy | 81 7 BEXR| - - 1M +]16] 2
t 4 ERT | R4~12| BB [t 4 iERT 11 b 0.05 | 7hvy | 96 13 BEL| - - 1| k|17
+ 4 EET | RA~12| BB | £ o ERT 11 ~ 0.62 | 7AvY | 96 | 160 BEKR| - - 1M k17]1
+ 4 ERT | RA~12| BB |+ 4 ERT 11 ~ 0.11 | 4mvy | 101 29 BEL| - - 11| k|18
t 4 ERT |R4~12| IR [t 4 iERT 11 b 0.24 | 7hw | 101 63 BAEK - - 11| ~| 19
t 4ERT | R4~12| BB |t 4o iERT 11 ~ 0.25 [ 74wy | 211 67 wEX| - - 11| k|20
+ 4 ERT | RA~12| BHRIE |+ o iERT 11 b 0.01 | 7hvy | 86 2 BEL| - - 11 ] k| 21
+ 4 EET | R4A~12| BB |4 ERT 11 F 0.02 | 4ovy | 86 5 BEKR| - - 1M |F| 1
t 4 ERT | R4~12| BB [t 4 iERT 11 F 0.06 | 4avy [ 136 | 16 BEL| - - M| F| 2
t 4 ERT |R4~12| IR [t 4 iERT 11 7 0.33 | 4mvy | 81 80 BAEK - - M7 2
t 4ERT | R4~12| EHHIE |t 4o iERT 11 I 0.39 | 7hvy | 96 | 101 wER| - - 11|33
t 4 ERT | R4~12| BB [t 4 iERT 11 I 0.41 | 4mvy | 81 100 BAEK - - 11|17 4
t 4 ERT |R4~12| BB [t~ iERT 13 m 0.11 | 4mvy | 61 22 BEXR| - - 13/ 8|19
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+ 4 EET | RA~12| BB |4 ERT 13 4 0.17 | 4wy | 256 | 45 BEXR| - - 13| X| 2
t 4 ERT | R4~12| BB [t 4 iERT 13 L 0.96 | 4ovy | 69 89 BEL| - - 13 )L 1
+t 4B | R4A~12| BHRIE |4 iRRT 13 L 0.29 | 4ovy | 69 25 BEL| - - 13 )L 1
t 4 ERT | R4~12| BB [t 4 iERT 13 L 0.03 | #ovy | 61 3 BEX| - - 13|/ 4
+ 4B | R4A~12| BIRIE |+ o iERT 13 L 0.01 | 4ovy | 61 1 BEL| - - 13 |JL)| 5
+ 4 EET | RA~12| BB |4 ERT 14 "t 8.01 | 7hvy | 126 |2, 331 BEKR| - - 14 4] 1
+ 4 RET | R4~12| BB |+ 4T 14 t 2.07 | 4mvy | 156 [ 602 BEL| - - 14 4] 2
+t 4B | R4A~12| BB |+ o iRRT 14 "t 2.51 | 7hvy | 126 | 730 BER| - - 14 4] 3
+ 4 ERT | R4A~12| BB |4 ERT 1 N 1.60 [ 74vY | 103 | 422 wER| - - 1 /v 1
+t 4B | R4A~12| BB |+ o AT 3 A 0.31 | 7hvy | 106 [ 82 BEL| - - 3 | /v 3
t4ERT |RA~12| EYRIE |t & EET 3 N 0.32 | 7hvy | 11 15 BAEX - - 3 /| 4
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